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PROVA D’ANGLÈS (MATÈRIA COMUNA) 
 
COGNOMS...............................................................NOM........................ 
 
A) LLEGEIX EL SEGÜENT TEXT I COMPLETA ELS ESPAIS 

ENCERCLANT L’ ALTERNATIVA CORRECTA  EN EL QUADRE DE LA 
PÀGINA 2. (Total: 2,5 punts – 0,25 per resposta correcta).  

 LEE EL SIGUIENTE TEXTO Y COMPLETA LOS ESPACIOS  
HACIENDO UN CÍRCULO SOBRE LA ALTERNATIVA CORRECTA EN 
EL CUADRO DE LA PÁGINA 2. (Total: 2,5 puntos – 0,25 por cada respuesta 
correcta). 

 
TITANIC: A MODERN MYTH 
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The Titanic tragedy quickly became a myth, maybe because its owners had said 
that the ship was “unsinkable”, a belief that was proved patently .......1....... just 
four days out to sea... 
 
.......2....... noon on April 10, 1912 the R.M.S. Titanic set sail on her maiden 
voyage from Southampton, England for New York. She was the.......3......., most 
luxurious ship .......4....... built and the passenger list included aristocrats and 
millionaires, .......5....... hundreds of poor immigrants heading for a new life in 
America. Most.......6.......  never see it.  
 
Four days out, at 11:40 p.m., she struck an iceberg. The iceberg bumped along 
the hull for approximately 100 metres, gouging out a hole that was little larger 
.......7....... the size of a desk. But it was enough. .......8....... the ship’s “double 
hull” and the so-called “water-tight compartments”, the seawater gushed in. Two 
and a half hours .......9....... the Titanic had submerged in the freezing waters of 
the Atlantic and sank for her final resting place. Of the 2,208 passengers and 
crew on board, only 650 made it to the lifeboats, another 55 managed to survive 
in the icy waters until they were rescued. The remaining one and half thousand 
died. It was a tragedy that soon became a modern myth. .......10....... newspapers 
were full of stories of how the orchestra continued to play, even as the ship was 
going down. Later we learned that there would never been enough lifeboats for 
everyone and it was the first-class passengers who were given priority. We also 
heard how the first lifeboat was almost empty; it was occupied only by the 
directors of the White Star Line and their friends.  
 
 

 
GLOSSARY 
line 4: to set sail= to leave a port 
line 9: to bump= to hit 
line 10: hull= the main body of a boat 
line 10: to gouge out=  to make a hole or long cut in something 
line 12: to gush in= to flow in quickly and in large quantities 
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A) ENCERCLA L’ALTERNATIVA CORRECTA: 
 HAZ UN CÍRCULO SOBRE LA ALTERNATIVA CORRECTA: 
 
 
1 
 

a)real b)true c)untrue d)mistrue 

2. 
 

a)at b)on c)in d)for 

3. 
 

a)most large b)more large c)larger d)largest 

4. 
 

a)whenever b)always c)never d)ever 

5. 
 

a)so well as b)so well so c)as well as d)as well 

6. 
 

a)would b)will c)should d)wouldn’t 

7. 
 

a)than b)that c)as d)what 

8. 
 

a)In spite b)Due c) Because d)Despite 

9. 
 

a)after b)later c)then d)when 

10. 
 

a)the b)--- c)a few d)few 

 
B) TROBEU AL TEXT PARAULES /EXPRESSIONS QUE SIGNIFIQUIN EL 

SEGÜENT. SEGUEIX L’EXEMPLE. (Total: 1,25 punts – 0,25 per resposta 
correcta). 

 ENCUENTRA EN EL TEXTO PALABRAS O EXPRESIONES QUE 
QUIERAN DECIR LO SIGUIENTE. SIGUE EL EJEMPLO.  (Total: 1,25 
puntos – 0, 25 por cada respuesta correcta). 

 
 
 
0. (NOUN - paragraph 1)- 24 hours = day 
1. (NOUN - paragraph 2)- trip, journey= 
2 (NOUN-  paragraph 3)- a table where you sit at to write or 

work= 
3. (ADJECTIVE - paragraph 3)- sufficient= 
4. (ADJECTIVE- paragraph 3)- freezing= 
5. (ADJECTIVE-  paragraph 3)- not full= 
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C) LLEGEIX  EL TEXT ANTERIOR I ENCERCLEU LA MILLOR 

ALTERNATIVA. (Total: 1,25 punts – 0,25 per resposta correcta). 
 LEE EL TEXTO ANTERIOR Y HAZ UN CÍRCULO SOBRE LA MEJOR 

ALTERNATIVA. (Total: 1,25 puntos – 0,25 puntos por cada respuesta correcta). 
 
 

 
1. a) The Titanic was unsinkable.  
1. b) Everybody thought that the Titanic was unsinkable.  
1. c) The Titanic could not sink.  
 
2. a) Most passengers arrived in New York.  
2  b) Most passengers never reached America.  
3. c) Most passengers survived.  
 
3. a) The hole in the Titanic was very large.  
3. b) The hole in the Titanic was small.  
3. c) The hole in the Titanic was enormous.  
 
 
4. a) Everybody had a seat in the lifeboats.  
4. b) Almost everybody had a seat in the lifeboats.  
4. c) Only a few had a seat in the lifeboats.  
 
 
5. a) All passengers were treated equally.  
5. b) First-class passengers were discriminated.  
5. c) Poor passengers were discriminated.  
 
 
 
D) ESCRIU UNA REDACCIÓ  DE 80 PARAULES COM A MÍNIM SOBRE 

AQUEST TEMA  ( 5 punts): 
 ESCRIBE  UNA REDACCIÓN DE 80 PALABRAS COMO MÍNIMO 

SOBRE ESTE TEMA  ( 5 puntos): 
 

 
 

• A review of a film you like. 
 

 
 
 
 


